Maria Splitt Only for informational purpose, will not be replaced in case of changes Print Date: 4/26/2012 11:34 AM

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

1 327900 1 PC Motor housing WSC 3XX-A
4 328150 1 PC Air deflector WSC 3xx-A
5 327988 1 PC Motor WSC 3xx-A36 assy

12 327909 1 PC Adapter WSC 3XX-A36

13 76036 1 PC O-ring 19,2X3

14 328596 1 PC Gear housing WSC 70-A finpt

15 328473 1 PC Locking pin assy

16 328376 1 PC Protective cover WSC 3XX

17 330199 1 PC Ball bearing

18 241992 1 PC O-ring 42X1 N-NBR70

19 327915 1 PC Shaft Akku

20 328816 1 PC Bearing cover assy

25 328701 4 PC Torx-soc tapt scr M5X65 T25

26 328470 1 PC Scale 370 printed

27 328033 1 PC Buffer

28 326298 4 PC Torx-soc tapt scr M4X12 T20 black

29 328034 1 PC Switch WSC 3xx-A

=T eerae T

HILTI Aktiengesellschaft Schaan/FL Mat-No. SPL-Index Change Master Description Valid at Drawing Page
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan, . .
Principality of Liechtenstein © 2009, Right of technical and 327895 3 538761 Cordless circular saw WSC 70-AEU 26.04.2012 USD/350253/*/D  1/6

programme changes reserved, S.E. & O.




Maria Splitt Only for informational purpose, will not be replaced in case of changes Print Date: 4/26/2012 11:34 AM

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status
30 328130 1 PC Compression spring 0,7X6,8X14,7
31 328119 1 PC Setting lever WSC 3XX
32 328036 1 PC Catch
33 328025 1 PC Electronics WSC 367/370-A36 assy
34 213329 1 PC Terminal block TYP1000/2DS
35 327902 1 PC Grip cover WSC 3XX
36 278313 7 PC Torx-soc re scr SN65 4X16
black GAL.ZNFE5F+DELTACOLL -
SCHWARZ
37 327907 1 PC Motor housing end cap WSC 3XX
39 327917 2 PC Brush holder WSC 3xx-A
41 328989 1 PC Flexible conductor 100 MM red
42 328990 1 PC Flexible conductor 130 MM black
44 12065 2 PC Prevail torque hex nut M5 8 - GAL ZNFES5F
+DELTACOLL SCHWA
45 328037 1 PC Lever WSC 3xx front
46 328044 1 PC Adapter piece
48 328710 2 PC Fitted bolt 6x8,2 / M5
49 328039 1 PC Guide
50 328075 1 PC Guide plate WSC 3xx assy
51 328937 1 PC Washer 6 ST - SCHWARZ
HILTI Aktiengese"schaft Schaan/FL Mat-No. SPL-Index Change Master Description Valid at Drawing Page
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and 327895 3 538761 Cordless circular saw WSC 70-AEU 26.04.2012 USD /350253 /*/D 2/6
programme changes reserved, S.E. & O.




Maria Splitt Only for informational purpose, will not be replaced in case of changes Print Date: 4/26/2012 11:34 AM

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

52 328041 1 PC Cup head square neck bolt M8X25

53 328127 3 PC Washer 8 ST - A2K

54 328042 2 PC Nut M8

55 328048 2 PC Clamping lever

56 51118 2 PC Retaining washer 10 A2A

57 328131 1 PC Clevis pin 6x33

58 328046 1 PC Cup head square neck bolt M8X150

59 326384 3 PC Recess csk head screw M4X10 A2L

60 328047 1 PC Clamping sleeve

61 327905 1 PC Cover WSC 3XX EU

64 328052 1 PC Pivoting guard WSC 70 finpt

65 328054 1 PC Lever

66 326120 1 PC Circlip 33X1.5 FED-ST -

PHOSPHAT.&GEOLT

67 328055 1 PC Tension spring

68 328057 1 PC Flange D30 inside

69 327911 1 PC Flange WSC xx outside

70 328106 1 PC Hexagon screw M8x20 SWa 9/16" SWi 6

71 240407 1 PC Circlip 28X1.2 FED-ST - PHOSPHAT. UND

GEOLT

m Spare Parts List
HILTI Aktiengesellschaft Schaan/FL Mat-No. SPL-Index Change Master Description Valid at Drawing Page
s e MOTR LSS, e 3 st Gordess ovculr saw WS 70AEU
programme changes reserved, S.E. & O.




Maria Splitt Only for informational purpose, will not be replaced in case of changes Print Date: 4/26/2012 11:34 AM

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status
73 328084 1 PC Needle bushing 8X12X8 STAHL - BK0808
74 237708 1 PC Retaining washer 4
75 327919 1 PC Hex skt binding hd scr M8x10
76 328124 1 PC Riving knife assy
77 328125 1 PC Lever WSC 70
78 328126 1 PC Guide
79 328292 1 PC Clevis pin 6X8
84 325961 1 PC Connection
85 328069 1 PC Rating plate WSC 70-A36
86 328603 1 PC Adhesive label WSC 70-A36 right
87 328065 1 PC Adhesive label WSC 70-A36 left
89 50965 1 PC Screw driver 6 SCHW
9 236652 1 PC Parallel guide WPG 55/70 assy
92 328029 2 PC Knurled thumb screw M5 x 7

600 430817 1 PC Label RFID
819 320560 1 PC Grease 1KG ALN1001/0

=T eerae T

HILTI Aktiengesellschaft Schaan/FL Mat-No. SPL-Index Change Master Description Valid at Drawing Page
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan, . .
Principality of Liechtenstein © 2009, Right of technical and 327895 3 538761 Cordless circular saw WSC 70-AEU 26.04.2012 USD/350253/*/D  41/6

programme changes reserved, S.E. & O.




Maria Splitt

Only for informational purpose, will not be replaced in case of changes

Print Date: 4/26/2012 11:34 AM

M3kniousaHe Ha OTrOBOPHOCTTa

YpeabT MoXe Aa ce PeMOHTUPa CaMo OT KOMMETEHTEH CneLmaniucT npu
cbbniogaBaHe Ha HopMaTUBHUTE pa3nopeAbi . B npotueeH cnyvait Moxe
Aa Bb3HWUKHE ONacHOCT OT HapaHABaHe unu snononyka. Tpabea aAa ce
cnasBaT CTPUKTHO CbOTBETHUTE MHCTPYKLWW NO OTHOLLGHWNE Ha TeXHNYECKo
obcnyxsaHe, NOAAPBXKA N PEMOHT, KOUTO Ca NPUBEASHN B CbOTBETHUTE
PBKOBOACTBA 3a eKcnroaraLya.

Vylouéeni zaruky

Opravy naradi sméji, s ohledem na zakonné predpisy, provadét nalezitym
zplUsobem jen odborné kvalifikovani pracovnici. Jinak vznika riziko urazu a
poskozeni. Pokyny ohledné o3etfovani, udrzby a oprav, uvedené v
pfislusnych navodech k pouziti, musi byt pfesné dodrzeny.

Ansvarsfraskrivelse

Reparationer pa apparatet skal altid udfgres af en fagmand i
overensstemmelse med de gaeldende regler og bestemmelser. | modsat
fald er der risiko for ulykker og personskader. Anvisningerne pa pleje,
vedligeholdelse og reparationer, der er beskrevet i instruktionsbogen, skal
altid overholdes.

Haftungsausschluss

Reparaturen am Gerat duirfen nur von einer entsprechend sachkundigen
Fachkraft unter Berticksichtigung der gesetzlichen Vorschriften durchgefuihrt
werden. Andernfalls besteht Unfall- und Verletzungsgefahr. Die
entsprechenden Instruktionen beziglich Pflege, Unterhalt und Reparaturen in
den jeweiligen Bedienungsanleitungen sind strikte einzuhalten.

ATrotroinan eubuviv

Emiokeuég oTn ocuakeur emTpémeTal va SievepyolvTal yévo amréd avricToixa
eKTTaISeUpévVa TTPOCWTTA AauBAvovTag UTTOYN TIG VOMIKESG BlaTdgelg.
AlagopeTIKG UTTdpY el KivBUVog yia atuxfparta Kal Tpauvpatiopous. Mpémel va
TNPOUVTAI AuaTNPd ol IoX0U0oUaES 0BNYieg TTOU avapEpovTal OTd EKACTOTE
syxeIpidia xpriong 6cov agopd T GPovTida, Tn CUVTAPNGCN KAl TIG ETTICKEUEG.

Disclaimer

Tool repair must be performed only by qualified repair personnel knowledgeable
about the specific tool and the legal requirements. Service, maintenance or repair
preformed by unqualified personnel could result in a risk of accidents and injury.
The instructions with regard to service, maintenance and repair in the respective
operating instructions must be strictly adhered to.

Exencion de responsabilidad

Las reparaciones que se realicen en la herramienta sélo pueden ser efectuadas por
expertos especializados conforme a las disposiciones legales. En caso contrario,
existe el peligro de accidente o el riesgo de lesiones. Las indicaciones referentes al
cuidado, al mantenimiento y a las reparaciones incluidas en los correspondientes
manuales de instrucciones deben cumplirse estrictamente.

Vastutuse valistamine

Seadet tohivad parandada tiksnes asjaomase ettevalmistusega spetsialistid, kes
peavad kinni seadusandlikest eeskirjadest. Nimetatud néude eiramise tagajarjeks on
vigastuste ja dnnetuste oht. Rangelt tuleb jargida iga seadme kasutusjuhendis
toodud asjaomaseid hooldus-, korrashoiu- ja parandusjuhiseid.

Vastuulauseke

Laitteiden ja koneiden korjaustsitd saa tehda vain ammattitaitoinen, naihin téihin
koulutettu henkild, ja téissa on noudatettava lakisaateisia maarayksia. Muutoin
onnettomuus- ja loukkaantumisvaara on olemassa. Kayttéohjeissa annettuja hoitoa,
yllapitoa ja korjauksia koskevia ohjeita on ehdottomasti noudatettava tarkasti.

Limitation de responsabilité

Les réparations sur I'appareil doivent exclusivement étre effectuées par une
main-d'ceuvre qualifiée et compétente, conformément aux prescriptions légales.
A défaut de quoi, il y a risque d’accidents et de blessures corporelles. Les
instructions correspondantes relatives au nettoyage, a I'entretien et aux
réparations spécifiées dans les modes d’emploi respectifs doivent étre
rigoureusement respectées.

Iskljuéenje odgovornosti

Popravke na uredaju smiju izvoditi samo odgovarajuéi stru¢njaci uzimajuci u
obzir zakonske propise. U suprotnom sluéaju postoji opasnost od nezgoda i
tjelesnih ozljeda. Strogo se valja pridrzavati odgovaraju¢ih uputa glede njege,
odrzavanja i popravaka u pojedinim uputama za uporabu.

Afelelésség kizarasa

A szerszam javitasat csak kifejezetten hozzaérté szakember végezheti a
vonatkozé térvényes eléirasok betartasaval. Ennek figyelmen kivul hagyasa
baleset- és sériilésveszélyt idéz el6. A mindenkori kezelési utasitas szervizre,
karbantartasra és javitasra vonatkozé rendelkezéseit szigortan be kell tartani.

Esclusione di responsabilita

Le riparazioni dell’attrezzo devono essere eseguite esclusivamente da personale
specializzato addestrato, osservando i relativi requisiti di legge. In caso contrario
sussiste il pericolo di incidenti e di lesioni. Attenersi con precisione alle istruzioni
relative alla cura, la manutenzione e la riparazione riportate nelle rispettive
istruzioni d’uso.

REKHE

AADBEL, IBERIFBERARL v Y X FOHH, BRENTULSER
ICHLOTHTICENTEFTT . TOMDOAAMMBELFT &, BROBHORRK
AeEHRNFEY, RIEGRAZEICERSATVSFAN, RTFEITBEICHT
% ERELTHETLTILEEL,

HEAQ

71710 42l W E Deteto] HE JIEAIE0l AR 4 YL 22| ot
x| et OB AT U S ato| IOl LIt ST ALS ABidol ZIRhEl0] 2L A
HIA, RAIE4 U 42l BT K22 WHatAl E4ahor gict.

Spare Parts List

HILTI Aktiengesellschaft Schaan/FL Mat-No.

Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

327895

SPL-Index Change Master Description

3 538761

Cordless circular saw WSC 70-AEU

Valid at Drawing Page

26.04.2012 USD /350253 /*/D 5/6




Maria Splitt

Only for informational purpose, will not be replaced in case of changes

Print Date: 4/26/2012 11:34 AM

Atsakomybés apribojimas

Prietaisas gali bati taisomas tik atitinkama kvalifikacijg turin¢iy specialisty,
atsizvelgiant | teisinius potvarkius. PrieSingu atveju yra pavojus patirti
nelaimingg atsitikimg arba susiZeisti. Privalu tiksliai laikytis atitinkamy
priezitiros, aptarnavimo ir remonto instrukcijy, nurodyty atitinkamo prietaiso
naudojimo instrukcijoje.

AtbildTbas atsauk$ana

Instrumenta remontu drikst veikt tikai atbilstosi kvalificéts personals, ievérojot
spéka esosas tiesTbu normas. Citada gadijuma pastav negadijumu risks un
risks gt traumas. Stingri jaievéro atbilstosie attiecigo lietoSanas instrukciju
noradijumi, kuri attiecas uz instrumentu kop$anu, uzturé$anu kartiba un
remontu.

Disclaimer

Reparaties aan het apparaat mogen alleen worden uitgevoerd door
gekwalificeerd en deskundig personeel, met inachtneming van de wettelijke
voorschriften. Wordt hier niet aan voldaan, dan kan dit leiden tot ongevallen of
letsel. Men dient zich strikt te houden aan de instructies inzake verzorging,
onderhoud en reparaties in de betreffende gebruiksaanwijzingen.

Ansvarsfraskrivelse

Reparasjon av maskinen skal kun foretas av sakkyndig fagperson . Lovfestede
krav ma falges under dette arbeidet. | motsatt fall oppstar fare for ulykker og
personskade. De tilhgrende instruksjonene vedrgrende pleie, vedlikehold og
reparasjon i de tilhgrende bruksanvisningene ma falges naye.

Wytaczenie odpowiedzialnosci cywilnej

Naprawy urzadzenia mogg by¢ przeprowadzane wytgcznie przez
autoryzowanego serwisanta z uwzglednieniem obowigzujacych przepisow
prawnych. W przeciwnym razie istnieje zagrozenie spowodowania wypadku i
obrazen. Nalezy dokfadnie przestrzegac zalecen z poszczegolnych instrukcji
obstugi dotyczacych pielegnacji, utrzymywania w stanie sprawnosci oraz
napraw.

Exclusao de responsabilidade

As reparagées no aparelho devem ser efectuadas apenas por pessoal técnico
especializado, sob consideragéo das prescrigées legais. Caso contrario, existe
perigo de acidente e ferimentos. As respectivas instrugées relativas a conservagéo,
manutengao e reparagdes que constam no respectivo manual de instrugées devem
ser rigorosamente respeitadas.

Clauze de exonerare

Repararea masinii (sculei) trebuie efectuata doar de cétre personal calificat pentru
reparatii, care poseda cunostinte despre masina respectiva si cerintele legale.
Activitatile de depanare, intretinere si reparare efectuate de personal necalificat pot
duce la risc de accidentari si vatamari. Trebuiesc respectate cu strictete toate
instructiunile de depanare, intretinere si reparare din manualele de utilizare
respective.

Vcknto4eHune oTBETCTBEHHOCTM

PeMoHT annapara fomkeH BbINONHATLCA TOMbKO KBaNMULMPOBaHHbIM

cneyunanncTom npu ycriosuun cobriroaeHns npesnucaHnil, ycTaHoBMNEHHbIX 3aKOHOM.

B npoTuBHOM criy4ae BO3MOXHa Yrpo3a HecHacTHOro criyyas Ui TpaBMUpPOBaHMsA.
CriepyeT HeyKOCHUTENbHO BbINOMHATD UHCTPYKLIMM MO YXOAY, COAEPXKaHUIo 1
PEMOHTY anmnapara, NpuBeAeHHble B COOTBETCTBYIOLLIMX PYKOBOACTBAX Mo
aKcnnyarauum.

Vyluc€enie zaruky

Opravy naradia smu, s ohladom na zakonné predpisy, vykonavat nalezitym
spdsobom len odborne kvalifikovani pracovnici. Inak vznika riziko urazu a
poskodenia. Pokyny tykajlce sa oSetrovania, udrzby a oprav, uvedené v
prislusnych navodoch na pouzivanie, musia byt presne dodrzané.

Izkljucitev odgovornosti

Popravila lahko izvajajo le ustrezno usposobljeni strokovnjaki ob upostevanju
zakonskih predpisov. V nasprotnem primeru obstaja nevarnost nesre¢ in poskodb.
Strogo je treba upostevati ustrezna navodila glede nege, vzdrZevanja in popravila iz
posameznih navodil za uporabo.

Friskrivning fran ansvar

Reparationer pa detta verktyg far endast utféras av fackman, och gallande lagar och
regler maste féljas. | annat fall finns risk fér olyckor och skador. Instruktionerna om
skétsel, underhall och reparationer i respektive bruksanvisning maste féljas strikt.

REER

BREBEMEASVASRBHRBENNE, THSERNER, ATAHRMAR
EITIRS, REIME, THBERLRILARGEE. LARBETEENPASH L
BR#5. RERMEERNA

Spare Parts List

HILTI Aktiengesellschaft Schaan/FL Mat-No.

Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

327895

SPL-Index Change Master Description

3 538761

Cordless circular saw WSC 70-AEU

Valid at Drawing

26.04.2012 USD /350253 /*/D

Page

6/6




